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Trig Ratios

opp = opposite, adj = adjacent, hyp = hypotenuse

o sin9= PP csc 8=
hyp

cos B = —E@— sec O =
hyp

tan® = PP  cot@=
adj

csc 45° =

sec 45 =

tan 45° = cot 457 =




1
30°
sin 30° = csc 30° =
cos30°= sec 30° =
tan 30(] = ' ' cot 30" =
V3 2
60°
1
sin 60° = csc 60° =
cos 60°= sec 60° =

tan 600 = cot 60:1/—\

 Fill in these 3 in your chart




Solving Right Triangles

1) Find missing side: al+ b =c¢
2) Write ratios

3) Rationalize Denominator

4) Find O : 2nd (trig ratio)

Check mode in your calculator for degree

8
cos 6 = sec 0=
tan O = CcotO=




\ sin 6= csc 0=
cos 6 = sec 6=
tan O = | cot 6=
csc 8=
éos 0= | - sec 0=
tan 0 = | cot 6 -




Trig ldentities
To find remaining trig ratios from the given info
1) Draw right triangic, placc 8

2) Label triangle from given
3) Write missing ratios

4) Find ©
sin 0 =2 | cos 0 = 47V
5 5




sin 6 =3 cos B = /55
8

|

secO =5




cot B =_,_1_(_)_

c_os@=4_\_/#2
15
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Rekerence. Angles’ Pos‘&ive
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Trig Ratios 6 and ¢ from point

l) Plot Point -
2) drop / raise perpindicular: label trlang]c

3) find hypotenuse
(always positive: distance from origin to point)

4) write ratios

5) find reference angle ¢
-‘ (use positive numbers only)

6) use formula to find ©




(-4, -2)

(5,-15)




('39 O)

(."6:' 9) A




0,4)

(8, 4)




Quodrants
Al 0°<0<90°
QI 90° <0 <180°
Qi 180° <6 <270°
QN 270°<B< 360°

 Where is this triangle?

sin > 0 : where is sin postive?,_
tan < 0 : where is tan negative;

Given two pieces of infor mation:
Then USE your CHART

1) Find quadrants for Ist piece of information:
Write it down

2) Find quadlants for 2nd picce of information:
Write it down

3) Triangle is in the quadrant you wrote tmce‘




tan > 0, sec <0

cos > 0, csc <0




cot>0,sin>0

cos <0, csc>0




1) Draw and label triangle in correct quadrant
2) Find missing side

3) Write ratios

4) Find & (ref angle); Find ©

tane:i,cose <0
; |



 secB=8v3 ,cotB <0
| 5

cs09=_7_,t3119 <0
5 |



